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Observation

We observe, number of shaded squares = %x total no. of squares
MNo. of shaded squares =1+2+3+ _+n
Total squares = Area of rectangle=n(n+ 1)

Therefore 1+2+3+ . +n=3 n{n+ 1)

Mathematically
Area of rectangle PQRS =10 x 11

From (i) and [ll],
142+3+ _+10=3x10x 11 = 55
Verifiedthat 1+2 + 3+ . +10=3x 10 (10 + 1) by graphical method.










Here, In an A.P., S14a = - 203
We, know thats, = E[Za + (n — 1)d]

? [2Za + 13d]
— 7[2a + 13d]

. — = = 2a + 13d

. —29 = 2a + 13d

-~ 2a + 13d =
1)

Also, given that the sum of the next 11
terms is — 572

~ Sos
- Sos

—203 — 572




22—5 [2a + 24d]

. —775 = 22—5 [2a + 24d]

—775%2 _ 24 + 24d
25

. —62 = 2(a + 12d)

Solving equation (1) and (2) we get
a=5 andd = —3

~ The A.P. is given by




Three numbers are intheratio 2 : 5: 7. If 7 1s subtracted from the second. the resulting number
form an arithmetic sequence. Determine the numbers.

Let the common multiple be x

~ The given numbers are 2x, bx and 7x respectively.

If we subtract 7 from the second number the resulting numbers form an arithmetic sequence
(Given)

W2x, bx—T7and7x arein A. P.

Where, t;=2x,t, =5x—7 andt; =7x

Weknow that the difference between any two consecutive terms of an A.P. are equal.
Sty— ty=t3— t;

Zbhbx—7 —2x=T7x—(5x—17)

w3x—7=T7x—5x+7

W3x—=T7=2x+7

Sx =14

* The required number are

2x =2(14)= 28; 5x=5(14)= 70 ; 7x=7(14) = 98







